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QUESTION 1

We have added a button to the layout of an Android application running in a Japanese environment, and specified
@string/exe as text property. Which of these will be displayed on the button when adding the following code to the
resource? 

A. There will be a compile error. 

B. "exe" will be displayed. 

C. "Execute" will be displayed. 

D. "@string/exe" will be displayed. 

Correct Answer: B 

 

QUESTION 2

Which of these is the correct interface definition used to bind a Service? 

A. AIDL 

B. IDL 

C. KML 

D. XML 

Correct Answer: A 

 

QUESTION 3



For playing an audio file, where does the Android Developer\\'s Guide recommend placing the file? 

A. res/raw 

B. res/values 

C. data/data 

D. system/data 

Correct Answer: A 

 

QUESTION 4

Which of these is the incorrect explanation of ddms? 

A. You can display a list of currently running threads and select one to check its stack trace. 

B. You can use it to acquire screenshots of a terminal. 

C. You can forcibly execute garbage collection and check the present heap usage status. 

D. You can do simulations of network zone speed and bandwidth limitations. 

Correct Answer: D 

 

QUESTION 5

When is written in the manifest file, which is the corresponding Android SDK development environment version? 

A. 1.5 and later 

B. 1.6 and later 

C. 2.0 and later 

D. 2.1 and later 

Correct Answer: D 

 

QUESTION 6

Which is the android.util package class necessary to output strings to the LogCat window in Eclipse? 

A. DebugUtils 

B. DisplayMetrics 

C. EventLog 

D. Log 



Correct Answer: D 

 

QUESTION 7

Which language is not supported in the Android Scripting Environment (ASE)? 

A. Perl 

B. JScript 

C. Lua 

D. BeanShell 

Correct Answer: B 

 

QUESTION 8

Which of these is the data type not supported by SOLite database which can be used by Android? 

A. INTEGER 

B. REAL 

C. BLOB 

D. VARCHAR 

Correct Answer: D 

 

QUESTION 9

Which of these is the correct explanation regarding SQLite database administration? 

A. The application owns database files. 

B. It is necessary to set a password. 

C. It is possible to have several database files. 

D. Database filenames must use the ".db" extension. 

Correct Answer: A 

 

QUESTION 10

Which of these is the incorrect explanation of the Android Scripting Environment (ASE)? 

A. You can execute scripts in the ASE, but cannot edit or create new documents. 



B. There is an API for phone calling using the ASE. 

C. Development using the ASE can be done interactively using a terminal. 

D. ASE is an Android application and can execute scripting languages such as Python. 

Correct Answer: A 

 

QUESTION 11

Which component cannot receive an Intent? 

A. Service 

B. Activity 

C. ContentProvider 

D. BroadcastReceiver 

Correct Answer: C 

 

QUESTION 12

Which does not have a lifecycle? 

A. Service 

B. MediaPlayer 

C. ContentProvider 

D. Activity 

Correct Answer: C 
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